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	� ا������  :)03(���ل �	 �

ل ���ذج وزن ا����، أ��
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  ا�
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��.�	
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b
. X
. Y − nY�� = 6596.6948 − 5155.19 = 1441.50   

  
Y
. Y − nY�� = 6653.3853 − 5155.19 = 1498.20   
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�� = ��.��.�	
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��.�	
��� = ����.��

�� !.�� = ". #$�%	   

�&ه 	5 34ل  % 96.21و�12ا �)� أن      
	5 ا��=
�5 أو ا��,�& '> أوزان ا;ط�
ل �7 87 �9
  .)X2(وط��0 ) X1("�& ا���� 
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�'� = % −	( 
	%

	)	%* . +% − ��, = 1 − ( -"	%

-"	�	%* . +% − 0.9621, =
0.96048   

  

 	5 ا��=
�5 '> أوزان ا;ط�
ل ��
& 	5 34ل ا��,�&ات ا��
@!+ '>  % 96أي أن      =�&A7

  وط��0. "�& ا���� 

II-8.  ا�ر�&�ط ا�����د �����  

      ،+!A�
�5 ا���,�& ا��
�C وا���,�&ات ا��� +��D ا��93+ ا�/�A� د��ط ا���
ان 	�
	� اFر7=
:+��

�0 و'< ا�-�,+ ا��
  و��8 �

� = +√��											+�0,  


	� اFر7=
ط ا�����د ھ�:�	  !" G�3ء ا��<Iوا�  

- &�,��!� +�
ھ�ات ا���!I8 ا����8 ا���Aرة 	9 5Aا� K�&�9ا 
�!L �	
�	 +��9 K��7ار C�
ا��
  اFر7=
ط ا�����د.

- 
��
	� اFر7=
ط ا�����د 9�	 14M�+&��.  �/ ط

	� اFر7=�	 5" N!�/� �2' +�-12ه ا��و ،

�=+، أي:O 
��9 14M� 5 أنP�� ا�1ي Q�
  ا�/�> ا�=

  		" ≤ � ≤ %		  

II-9. رات ا�� ��2ت ا��1 ى��   �6ز#4 ا����3#+ ��

      <Rا�I�ا� M�/ا� ��� <���+ ا���ز�C ا��=S&' ء
���O
�)ε(  �9ره C9�7 0� ص� ا�1ي 
 5�
  ن:2σ( 'U(و7=

)bi(  
.�2[و7=
�5 �9ره  ))βi���C9 �9ره   �6ز#4 ط&��	�2 +���,	%[.  


�> 'Uن ا���Aار:��
  و�

3 = 	 �4	542�4
											+�-,    


ن 7=
�5 ا�%��ذج      L ري، ھ1ا إذا
��	 <��
ن ا��=
�σ7�(  5(�0 �7ز�C ط=L إذا 

. أ		�!�	

 ��Aره ��=
�5 ا�=�ا9> %�U' م�!�	 &�W)S9�(:ار�Aن ا��U' <�
��
  . و�

� = 	 �4	54+�4,2̂
															 ; i = 0, 1, 2, … , k									+�$,   

      Kد����O C0 �7ز��)t(  +�&� ت
Xر��)n-k-1(.  
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II-10.  ��  وا;�&�ر ا�� !��ت �iβ(  :�6(ا����#  ��2 ة �����

1- ������� +��� ة ا��)iβ(  


�K درX+ ا��A+ ا���!��+ ھ>:      L 1( 100%إذا-α( �	

ن ا���' )iβ(  +A���Aُر ���&ة ا�
:+��
  ا��

�4 ∓ A+%	B
�;	
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2-  ��  )iβ(ا;�&�ر ا�� !��ت �6ل ا����


ر '> ھ1ه ا��
�+ ھ�:=�43� CR
Iا� �PIان ا�  

DE":	54 = "		
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ر ا��%
O� ھ�:     =�4Fء ا

�> 'Uن إ�-��
 و�

� = 	 �4	"+�4,2̂
=			 �4

+�4,2̂
													+�H,   

      +��
ر�+ 9A��و)T(  +��
��+ ا�)�و��+ ا���Aا� C	)t(  +�F%��+ أو ا���ى ا����
	 �%"
  ، 'Uن 9
"�ة ا7/
ذ ا�A&ار �P7ن "!  ا�%�� ا��
�>:)α(ا���!�ب 

��+ ا���!A+ �ـ -Aا� K�
L إذا)T(  +���+ ا�)�و�A5 ا�	 &=Lأ +��
�+  )t(ا���S&ا�� ^'&�
2
، وھ1ا ��%> أن �!��� �=Aا�����+ ا�-�&�+ و� +��$)iβ( => ?����  رة أ4&ى ا���
؛ ��=

�&ه. ا���,�& ا��
��A ا��&Q=7 �12ه ا���!�+

ھ�7 <' 8
  �a`& "!  ا���,�& ا��
�C و�ُ

��+ ا���!A+ �ـ -Aا� K�
L إذا)T(  +���+ ا�)�و�A5 ا�	أ�9  +��
�+ ا�-�&�+  )t(ا���S&ا�� �=A�
�+ ا�-�&�+، وھ1ا ��%> أن  ا���
��+ )T( و�&'^ ���!�2
، ;نS&9=�ل ا�� +A�%	 <' K�9و

؛ ��=
رة أ4&ى ا���,�& ا��
��A ا��&Q=7 �12ه ا���!�+ F �,�وي ا���  )iβ($��+ ا�����+ 
�&ه

ھ�7 <' 8
ُ� Fو C�
�2%
 �a`& "!  ا���,�& ا���
�> �X�7 F "93+ إر7=
ط ���
  .و�

���ل )04( : +A�!���5  %��95د '�&ة ا��1(�!�β2( و )β(   !" ذج ا���ار وزن ا������%�
  "�&ه وط��0، `8 ��� ذ�c إ�4=& 	�%��+ 	�,�& ا���& وا���ل �L "!  ��ة.

:�
  ا�

 +������ +�  14M7 ا��PI ا��
�>: )1β(أو�. �� ة ا��

�% ∓ A+%	B
�;	
	)	%,. +�%,2̂   

                       :
%���                     1-α = 0.95 ⇒ α = 0.05 

  و	0% �)�:
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	∓A+%	B
�;	
	)	%, =	∓t+�	K.KL

M ;	��	�	�, =	∓t+�. N�;	�N, = ∓2.014	   

 +A�
	� ا���Fار  %95و	0% '
ن '�&ة ا����)1β( :<ھ  

1.2008 ∓ 2.014. +0.21107,   

  ⇒	Pβ�Q ∈ 	 [0.7757		 ∶ 	1.6259]   

 +Xر�� >�� 
�+  %95وھ1ا ��%> أ�%A�A!�+ ا���1(أن ا��β(  :5�� 
و  CA7)0.7757 '> ا���ى 	
1.6259(.  

 +������ +��� ة ا�� .����C)2β( :	ا���� �D"ا� E;F�  

�� ∓ A+%	B
�;	
	)	%,. +��,2̂   

 +A�
�A+ �)� أن '�&ة ا�

	� ا���Fار  95%�D�% ا��&�A+ ا����)2β( :<ھ  

0.12457 ∓ 2.014. +0.018466,   

 ⇒	Pβ�Q ∈ 	 [0.08737		 ∶ 	0.16177]   

 +Xر�� >�� 
�+  %95وھ1ا ��%> أ�%A�A!�+ ا���2(أن ا��β(  :5�� 
 CA7)0.08737 '> ا���ى 	
  .)0.16177و 
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DH�:	β� = 0		
H�:	β� ≠ 0								  


ر ا��%
O� ھ�:     =�4Fء ا
 إ�-

� = 	 �%
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      +��
ر�+ 9A��و)T(  +���+ ا�)�و�Aا� C	 +��

��ى ا���%��+  )t(ا���	 �%")0.05( �(� ،
�+ ا�-�&�+  � �Gو�c�1  )2.014(ا�)�و��+  )t(أL=& 	5  )5.69(ا���
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DH�:	β� = 0		
H�:	β� ≠ 0								  
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�A+ �)� إ�-
 �%�D ا��&�A+ ا�

� = 	 ��
+��,2̂

	= 		 �.����N�.��!�XX = $. C0$									   

     

) 2.014(ا�)�و��+  )t(أL=& 	5  )6.746(ا���
��+  )T(أن  ��%�U' G� �  +�S&ا��
�&�ا�-�&�+ و� 
$��+ ا�����+ وھ1ا ��%> أن ، )0.05("%� 	
��ى ا���F+ أو ا���%��+  ���!�2

)2β(  ا��� => ?���� &�
�5 وزن ا����. ط�ل؛ ��=
رة أ4&ى 	�,=7 &�

ھ�7 <' 8
  ا���� �


